

See discussions, stats, and author profiles for this publication at: <https://www.researchgate.net/publication/266960101>

g H semi-Riemann metric on the tangent bundle and its index

Article · January 2010

CITATIONS
0

READS
21

2 authors, including:



Ismet Ayhan
Pamukkale University

17 PUBLICATIONS 10 CITATIONS

SEE PROFILE

g^H Semi-Riemann Metric on the Tangent Bundle and its Index

Ismet Ayhan

Pamukkale University, Education Faculty, 20020, Denizli, Turkey
iayhan@pau.edu.tr

Erol Yasar

Mersin University, Art and Science Faculty, 33343, Mersin, Turkey
yerol@mersin.edu.tr

Abstract

In this paper, it is examined relations between the causal character of lifted tangent vector on the tangent bundle with g^H semi-Riemann metric of a semi-Riemann manifold and the causal character of the tangent vector on the semi-Riemann manifold with g semi-Riemann metric. Moreover, it is proved that g^H , which is obtained in term of the horizontal lift of a semi-Riemann metric with ν -index on a differentiable manifold, is a semi-Riemannian metric with n -index

Mathematics Subject Classification: 53C50, 53C07

Keywords: the semi-Riemann metric and special metric on tangent bundle

1. Introduction

The study about metrics on tangent bundle of a Riemann manifold was introduced at the end of the 1950's. [Yano and Ishihara, 1970], The metrics on M were lifted TM by vertical, complete and horizontal lifts. [Yano and Ishihara, 1970], [Oproiu and Papaghiuc, 1998] examined the differential geometry of TM by this metric. Moreover, they defined that obtained metric on TM by the horizontal lift of Riemann or semi-Riemann metric on M is semi-Riemann metric without proof. In addition, They also defined that lifted metric on TM by horizontal lift is a semi-Riemann metric with n positive and n negative signs without proof.

In this paper, it is proved that (TM, g^H) is a semi-Riemann manifold. Then it is showed that the tangent vector in (M, g) can respectively spacelike, null and timelike if the tangent vector in (TM, g^H) , which has been lifted a tangent vector in (M, g) , is spacelike, null and timelike.

Finally, it is obtained that obtained metric on TM by the horizontal lift of a Riemann or a semi-Riemann metric on M is semi-Riemann metric with n positive and n negative signs.

2. A differentiable manifold and its tangent bundle

Let M be a differentiable n-dimensional manifold and TM be its tangent bundle. Suppose that $(x) = \{x^1, \dots, x^n\}$ is a system of local coordinates defined in the neighborhood $p \in U \subset M$. Since the canonical projection $\pi: TM \rightarrow M$ obtains the equality $\pi(Z_p) = p$, $\pi^{-1}(U) = U'$ is open neighborhood of the point $\pi^{-1}(\{p\})$ in TM.

$$(x, y)(Z_p) = (x^1(p), \dots, x^n(p), Z_p[x^1], \dots, Z_p[x^n]) \quad (1)$$

Therefore, the map (x, y) which is defined with the equality (1) is a local map in $U' \subset TM$ and the system of $(x^i, y^i; 1 \leq i \leq n)$ is induced local coordinate system in TM.

TTM, the tangent bundle of TM, has subvector bundle $VTM = \text{Cek}((\tau_M)_*)$ which is called vertical distribution on TM and HTM which is called horizontal distribution on TM. In addition, it can be expressed TTM as direct sum of subvector bundles VTM and HTM

$$TTM = VTM \oplus HTM \quad (2)$$

$\{\delta_i, \partial_i; 1 \leq i \leq n\}$ is adapted local frame in TM where δ_i is local frame in HTM

$$\delta_i = \left(\frac{\partial}{\partial x^i} \right)^H = \frac{\delta}{\delta x^i} = \frac{\partial}{\partial x^i} - N_i^j \frac{\partial}{\partial y^j}, \quad N_i^j = y^k \Gamma_{ki}^j \quad (3)$$

and ∂_i is local frame in VTM

$$\partial_i = \left(\frac{\partial}{\partial x^i} \right)^V = \frac{\partial}{\partial y^i}. \quad (4)$$

Furthermore, $\{\delta y^i, dx^i; 1 \leq i \leq n\}$ is adapted local dual frame in TM where

$$\delta y^i = dy^i + N^i_j dx^j, \quad N^i_j = y^k \Gamma_{kj}^i \quad (5)$$

(Oproiu ve Papaghiuc, 1998).

g^H is defined vector fields on TM as bellow

$$\begin{aligned} g^H(X^V, Y^H) &= g^H(X^H, Y^V) = (g(X, Y))^V \\ g^H(X^H, Y^H) &= (g(X, Y))^H = 0, \\ g^H(X^V, Y^V) &= 0 \end{aligned} \quad (6)$$

for any $X, Y \in \chi(M)$ and $X^V, X^H, Y^V, Y^H \in \chi(TM)$.

g^H , the horizontal lift of the metric tensor g with components g_{ij} on M , has components

$$g^H = g_{ij} dx^i \delta y^j + g_{ij} \delta y^i dx^j \quad (7)$$

with respect to adapted local frame in TM or

$$g^H = (g_{kj} \Gamma_{ji}^k y^i + g_{ik} \Gamma_{ij}^k y^j) dx^i dx^j + g_{ij} dx^i dy^j + g_{ji} dy^i dx^j \quad (8)$$

with respect to induced local coordinates in TM.

Moreover, the matrix representation of g^H is

$$g^H = \begin{bmatrix} g_{kj} \Gamma_{ji}^k y^i + g_{ik} \Gamma_{ij}^k y^j & g_{ij} \\ g_{ji} & 0 \end{bmatrix} \quad (9)$$

(Yano and Ishihara, 1970).

3. Semi-Riemann manifold

Semi-Riemann geometry involves a particular kind of (0,2) tensor on tangent spaces. To study these in general, let V be a finite dimensional real vector space. A bilinear form on V is an R -bilinear function $b: V \times V \rightarrow R$, and let b be a symmetric.

Definition 3.1 A symmetric bilinear form b on V is called positive [negative] definite provided $v \neq 0$ implies $b(v, v) > 0$ [< 0] and is called nondegenerate provided $b(v, w) = 0$ for all $w \in V$ implies $v = 0$.

If b is a symmetric bilinear form on V then for any subspace W of V the restriction $b|_{(W \times W)}$, denoted merely by $b|_W$, is again symmetric and bilinear.

Definition 3.2 The index ν of a symmetric bilinear form b on V is the largest integer that is the dimension of a subspace $W \subset V$ on which $b|_W$ is negative definite.

Definition 3.3 A scalar product g on a vector space V is nondegenerate symmetric bilinear form on V .

Definition 3.4 If g smoothly assigns to each point p of M a scalar product g on the tangent space $T_p M$, and the index of g is the same for all p , a smooth manifold M furnished with a metric tensor g is called a semi-Riemann manifold. A semi-Riemann manifold is denoted an ordered pair (M, g) .

Definition 3.5 A tangent vector v in a semi-Riemann manifold (M, g) is

- i) spacelike vector if $g(v, v) > 0$ or $v = 0$,
- ii) null vector if $g(v, v) = 0$ and $v \neq 0$,
- iii) timelike vector if $g(v, v) < 0$.

The category into which a given tangent vector falls is called its causal character.

To prevention clumsy and to make computation easier, we will use normal coordinate system while computing the index of a semi-Riemann manifold.

Theorem 3.1 Let (M, g) be a semi-Riemann manifold with index ν . If (x^1, \dots, x^n) is a normal coordinate system at $p \in M$, it is

$$\text{i) } g_{ij}(p) = \delta_{ij} \varepsilon_j, \quad \varepsilon_j = \begin{cases} -1 & 1 \leq j \leq \nu \\ 1 & \nu+1 \leq j \leq n \end{cases} \quad (10)$$

$$\text{ii) } \Gamma_{ij}^k(p) = 0 \quad \text{for } (1 \leq i, j, k \leq n) \quad (11)$$

(O'Neill 1983).

4. The metric g^H in TM

Theorem 4.1 Let M be a differentiable manifold and g be a Riemann or semi-Riemann metric on M . If $\chi(TM)$ is a set of vector fields in TM and $C^\infty(TM, R)$ is a ring of differentiable function whose range set is real number, g^H is semi-Riemann metric in TM where g^H is

$$g^H : \begin{array}{ccc} \chi(TM) \times \chi(TM) & \rightarrow & C^\infty(TM, R) \\ (\tilde{X}, \tilde{Y}) & \rightarrow & g^H(\tilde{X}, \tilde{Y}) \end{array} \quad (12)$$

Proof: Let X be a vector field in M and \tilde{X} be a vector field in TM. All \tilde{X} vector fields in TM are expressed with direct sum of vector fields X^V and X^H due to property (2) as below

$$\tilde{X} = X^V + X^H. \quad (13)$$

We get

$$\begin{aligned} g^H(\alpha\tilde{X} + \beta\tilde{Y}, \tilde{Z}) &= g^H((\alpha X + \beta Y)^V + (\alpha X + \beta Y)^H, Z^V + Z^H) \\ &= \alpha g^H(\tilde{X}, \tilde{Z}) + \beta g^H(\tilde{Y}, \tilde{Z}) \end{aligned}$$

and

$$\begin{aligned} g^H(\tilde{X}, \alpha\tilde{Y} + \beta\tilde{Z}) &= g^H((X^V + X^H, (\alpha Y + \beta Z)^V + (\alpha Y + \beta Z)^H) \\ &= \alpha g^H(\tilde{X}, \tilde{Y}) + \beta g^H(\tilde{X}, \tilde{Z}) \end{aligned}$$

for any $X, Y, Z \in \chi(M)$, $\tilde{X}, \tilde{Y}, \tilde{Z} \in \chi(TM)$ and $\alpha, \beta \in R$.

Thus, we obtain that g^H is bilinear. By the equality (13), we get

$$g^H(\tilde{X}, \tilde{Y}) = g^H(\tilde{Y}, \tilde{X}).$$

Thus, we obtain that g^H is symmetric. By the definite nondegeneracy of a metric, we get

$$g^H(\tilde{X}, Y^V) = g^H(X^V + X^H, Y^V) = g^H(X^H, Y^V) = (g(X, Y))^V = 0$$

for $\forall \tilde{X} \in \chi(TM)$ and $\tilde{Y} = Y^V$. We find that $Y^V = 0$ and by similary operation, we get

$$g^H(\tilde{X}, Y^H) = (g(X, Y))^V = 0.$$

We also find that $Y^H = 0$. Thus, we get

$$g^H(\tilde{X}, \tilde{Y}) = 0 \Leftrightarrow \tilde{Y} = 0 \quad \text{for } \forall \tilde{X} \in \chi(TM).$$

Namely, g^H is nondegenerate. In conclusion, since it is provided non degenerate, symmetric and bilinear properties of g^H , g^H is a semi-Riemann metric in TM.

Theorem 4.2 Let (M, g) be a semi-Riemann manifold and g^H semi-Riemann metric in TM. Let $T_p M$ be the tangent space at a point p in M and $T_Z TM$ be the tangent space at a point Z in TM which provide equality $\pi(Z) = p$. If X, Z are spacelike or timelike vectors in $T_p M$, both $(X^V)_Z$ and $(X^H)_Z$ are null vectors in $T_Z TM$.

Proof: By the equation (6) and definition 3.5, it can be seen proof of the claim straightforward.

Theorem 4.3 Any vector which is defined in a semi-Riemann manifold (TM, g^H) is null vector if and only if

- i) the vector which is defined on TM lies vertical or horizontal vector subspace in tangent space of TM or
- ii) projected vector in $T_p M$ of the vector which is defined in $T_Z TM$ is null vector.

Proof:

i) By the equation (6), it is clear.

ii) By the equality (13), it is written

$$\tilde{X}_Z = (X^V)_Z + (X^H)_Z$$

where $\tilde{X}_Z \in T_Z TM$ and $X, Z \in T_p M$. We get

$$g^H(\tilde{X}_Z, \tilde{X}_Z) = 2g(X_p, X_p) = 0.$$

In addition, we get

$$\tilde{X}_Z \neq 0 \Rightarrow X_p \neq 0.$$

Thus, X_p is also null vector.

Theorem 4.4 If any vector which is defined on semi-Riemann manifold (TM, g^H) is spacelike vector, the vector which is projected on semi-Riemann manifold (M, g) is spacelike vector.

Proof: By the part (ii) of preceding theorem, it is written

$$\tilde{X}_Z = (X^V)_Z + (X^H)_Z$$

where $\tilde{X}_Z \in T_Z TM$ and $X, Z \in T_p M$. By the definition 3.5, we get

$$g^H(\tilde{X}_Z, \tilde{X}_Z) = 2g(X_p, X_p) > 0$$

or

$$\tilde{X}_Z = 0 \Rightarrow X_p = 0.$$

Thus, X_p is spacelike vector.

Theorem 4.5 If any vector which is defined on semi-Riemann manifold (TM, g^H) is timelike vector, the vector which is projected on semi-Riemann manifold (M, g) is timelike vector.

Proof: By the part (ii) of theorem 4.3, it is written

$$\tilde{X}_Z = (X^V)_Z + (X^H)_Z$$

where $\tilde{X}_Z \in T_Z TM$ and $X, Z \in T_p M$. By the definition 3.5, we get

$$g^H(\tilde{X}_Z, \tilde{X}_Z) = 2g(X_p, X_p) < 0.$$

Thus, if \tilde{X}_Z is timelike vector, X_p is timelike vector.

5. The index of the metric g^H

Theorem 5.1 If (M, g) is a Riemann manifold, (TM, g^H) is a semi-Riemann manifold with n-index.

Proof: Let g be a Riemann metric on M . We take a normal coordinate system in M . In terms of the equalities (10), (11), it is obtained that

$$g_{ij}(p) = \delta_{ij} = \begin{cases} 1 & i = j \\ 0 & i \neq j \end{cases}, \quad \Gamma_{ij}^k(p) = 0 \quad (14)$$

for $\nu = 0$

The equalities in (14) taking into account (9), the matrix representation of g^H is

$$g^H = \begin{bmatrix} 0 & I_{n \times n} \\ I_{n \times n} & 0 \end{bmatrix}.$$

The eigenvalue of this obtained metric g^H can be seen by the equality

$$|\lambda I_{2n \times 2n} - g^H| = \begin{vmatrix} \lambda I_{n \times n} & -I_{n \times n} \\ -I_{n \times n} & \lambda I_{n \times n} \end{vmatrix} = (\lambda^2 - 1)^n. \quad (15)$$

The equality (15) can be proved by the method of induction as below.

It is true that

$$|\lambda I_{2 \times 2} - g^H| = \begin{vmatrix} \lambda & -1 \\ -1 & \lambda \end{vmatrix} = (\lambda^2 - 1)^1 \quad \text{for } n = 1$$

We suppose that following equality is true $n = k$

$$|\lambda I_{2k \times 2k} - g^H| = \begin{vmatrix} \lambda I_{k \times k} & -I_{k \times k} \\ -I_{k \times k} & \lambda I_{k \times k} \end{vmatrix} = (\lambda^2 - 1)^k.$$

The equality can be proved as follow for $n = k + 1$

$$\begin{aligned}
 \left| \lambda I_{2(k+1) \times 2(k+1)} - g^H \right| &= \det \begin{bmatrix} \lambda & \dots & 0 & -1 & \dots & 0 \\ \dots & \lambda I_{k \times k} & \dots & -I_{k \times k} & \dots & \dots \\ 0 & \dots & 0 & \dots & \dots & \dots \\ -1 & \dots & 0 & \lambda & \dots & 0 \\ \dots & -I_{k \times k} & \dots & \lambda I_{k \times k} & \dots & \dots \\ 0 & \dots & 0 & \dots & \dots & \dots \end{bmatrix}_{2(k+1) \times 2(k+1)} \\
 &= \lambda \begin{vmatrix} \lambda I_{k \times k} & 0 & -I_{k \times k} \\ \dots & \dots & \dots \\ 0 & \dots & 0 \\ 0 & \dots & 0 \\ -I_{k \times k} & \dots & \lambda I_{k \times k} \\ 0 & \dots & 0 \end{vmatrix} + (-1)^{k+4} \begin{vmatrix} 0 & \lambda I_{k \times k} & -I_{k \times k} \\ \dots & \dots & \dots \\ 0 & \dots & 0 \\ -1 & \dots & 0 \\ \dots & -I_{k \times k} & \lambda I_{k \times k} \\ 0 & \dots & 0 \end{vmatrix} \\
 &= \lambda^2 (-1)^{2(k+1)} \begin{vmatrix} \lambda I_{k \times k} & -I_{k \times k} \\ -I_{k \times k} & \lambda I_{k \times k} \end{vmatrix} + (-1)^{k+4} (-1)^{k+3} \begin{vmatrix} \lambda I_{k \times k} & -I_{k \times k} \\ -I_{k \times k} & \lambda I_{k \times k} \end{vmatrix} \\
 &= \lambda^2 \begin{vmatrix} \lambda I_{k \times k} & -I_{k \times k} \\ -I_{k \times k} & \lambda I_{k \times k} \end{vmatrix} + (-1)^{2k+7} \begin{vmatrix} \lambda I_{k \times k} & -I_{k \times k} \\ -I_{k \times k} & \lambda I_{k \times k} \end{vmatrix} = \lambda^2 (\lambda^2 - 1)^k - (\lambda^2 - 1)^k \\
 &= (\lambda^2 - 1)^{k+1}.
 \end{aligned}$$

Since the index of g^H is independent chose of map on TM [see the definition 3.4], g^H has n positive and n negative eigen value whose equal to +1 and -1. The eigen vectors which is corresponded the eigen value +1 are

$$X_1 = \begin{bmatrix} 1 \\ \dots \\ 0 \\ 1 \\ \dots \\ 0 \end{bmatrix}, \dots, X_n = \begin{bmatrix} 0 \\ \dots \\ 1 \\ 0 \\ \dots \\ 1 \end{bmatrix},$$

and the eigen vectors which is corresponded the eigen value -1 are

$$X_{n+1} = \begin{bmatrix} 1 \\ \dots \\ 0 \\ -1 \\ \dots \\ 0 \end{bmatrix}, \dots, X_{2n} = \begin{bmatrix} 0 \\ \dots \\ 1 \\ 0 \\ \dots \\ -1 \end{bmatrix}.$$

The matrix which are obtained in terms of eigenvectors X_1, \dots, X_{2n} and its inverse

are

$$P = \begin{bmatrix} I_{n \times n} & I_{n \times n} \\ I_{n \times n} & -I_{n \times n} \end{bmatrix}$$

and

$$P^{-1} = \frac{1}{2} \begin{bmatrix} I_{n \times n} & I_{n \times n} \\ I_{n \times n} & -I_{n \times n} \end{bmatrix}.$$

Thus, $\tilde{g}^H = P^{-1} g^H P$, the diagonal matrix of g^H , is expressed as follow

$$\tilde{g}^H = \begin{bmatrix} I_{n \times n} & 0 \\ 0 & -I_{n \times n} \end{bmatrix}.$$

Finally, in terms of the matrix representation of \tilde{g}^H , we can see that g^H is a semi-Riemann metric with n positif and n negatif sign, straightforward.

Theorem 5.2 If (M, g) is a Riemann manifold with ν -index, (TM, g^H) is a semi-Riemann manifold with n -index.

Proof: Let M be a semi-Riemann manifold with ν -index. If we take normal coordinate system in M , it is

$$g_{ij}(p) = \begin{cases} -1 & ; & 1 \leq j = i \leq \nu \\ 1 & ; & \nu + 1 \leq j = i \leq n \\ 0 & & j \neq i \end{cases} = I_n^\nu$$

where I_n^ν is diagonal square matrix. The first ν elements which are on the diagonal of the this matrix are -1 and rest $n - \nu$ elements are +1. Moreover, it is $\Gamma_{ij}^k(p) = 0$. Thus, the representation of g^H is that

$$g^H = \begin{bmatrix} 0 & I_n^\nu \\ I_n^\nu & 0 \end{bmatrix}.$$

The eigenvalue of this obtained metric g^H can be seen by the equality

$$|\lambda I_{2n \times 2n} - g^H| = \begin{vmatrix} \lambda I_{n \times n} & -I_n^\nu \\ -I_n^\nu & \lambda I_{n \times n} \end{vmatrix} = (\lambda^2 - 1)^n. \quad (16)$$

The equality (16) can be proved that it is considered two cases as follow.

Case 1: Suppose that n -changeable and ν -non changeable we will the method of induction so that we prove case 1. It is true that

$$|\lambda I_{4 \times 4} - g^H| = \begin{vmatrix} \lambda & 0 & 1 & 0 \\ 0 & \lambda & 0 & -1 \\ 1 & 0 & \lambda & 0 \\ 0 & -1 & 0 & \lambda \end{vmatrix} = (\lambda^2 - 1)^2 \text{ for } n = 2$$

We suppose that following equality is true for $n = k$

$$|\lambda I_{2k \times 2k} - g^H| = \begin{vmatrix} \lambda I_{k \times k} & -I_k^1 \\ -I_k^1 & \lambda I_{k \times k} \end{vmatrix} = (\lambda^2 - 1)^k.$$

We can prove the true of the equality of (16) for $n = k + 1$ as below

$$\begin{aligned} |\lambda I_{2(k+1) \times 2(k+1)} - g^H| &= \det \begin{bmatrix} \lambda & \dots & 0 & 1 & \dots & 0 \\ \dots & \lambda I_{k \times k} & \dots & -I_{k \times k} & \dots & \dots \\ 0 & \dots & 0 & \dots & \dots & \dots \\ 1 & \dots & 0 & \lambda & \dots & 0 \\ \dots & -I_{k \times k} & \dots & \lambda I_{k \times k} & \dots & \dots \\ 0 & \dots & 0 & \dots & \dots & \dots \end{bmatrix}_{2(k+1) \times 2(k+1)} \\ &= \lambda^2 (-1)^{2(k+1)} \begin{vmatrix} \lambda I_{k \times k} & -I_{k \times k} \\ -I_{k \times k} & \lambda I_{k \times k} \end{vmatrix} + (-1)^{k+3} (-1)^{k+2} \begin{vmatrix} \lambda I_{k \times k} & -I_{k \times k} \\ -I_{k \times k} & \lambda I_{k \times k} \end{vmatrix} \\ |\lambda I_{2(k+1) \times 2(k+1)} - g^H| &= \lambda^2 \begin{vmatrix} \lambda I_{k \times k} & -I_{k \times k} \\ -I_{k \times k} & \lambda I_{k \times k} \end{vmatrix} + (-1)^{2k+5} \begin{vmatrix} \lambda I_{k \times k} & -I_{k \times k} \\ -I_{k \times k} & \lambda I_{k \times k} \end{vmatrix} \\ &= \lambda^2 (\lambda^2 - 1)^k - (\lambda^2 - 1)^k \\ &= (\lambda^2 - 1)^{k+1}. \end{aligned}$$

Case 2: it is n -non changeable and ν changeable

It is true that

$$|\lambda I_{6 \times 6} - g^H| = \begin{vmatrix} \lambda & 0 & 0 & 1 & 0 & 0 \\ 0 & \lambda & 0 & 0 & -1 & 0 \\ 0 & 0 & \lambda & 0 & 0 & -1 \\ 1 & 0 & 0 & \lambda & 0 & 0 \\ 0 & -1 & 0 & 0 & \lambda & 0 \\ 0 & 0 & -1 & 0 & 0 & \lambda \end{vmatrix} = (\lambda^2 - 1)^3 \text{ for } n = 3 \text{ and } \nu = 1.$$

and

$$|\lambda I_{6 \times 6} - g^H| = \begin{vmatrix} \lambda & 0 & 0 & 1 & 0 & 0 \\ 0 & \lambda & 0 & 0 & 1 & 0 \\ 0 & 0 & \lambda & 0 & 0 & -1 \\ 1 & 0 & 0 & \lambda & 0 & 0 \\ 0 & 1 & 0 & 0 & \lambda & 0 \\ 0 & 0 & -1 & 0 & 0 & \lambda \end{vmatrix} = (\lambda^2 - 1)^3 \text{ for } n = 3 \text{ and } \nu = 2.$$

We suppose that following equality is true for $n = k$ and $\nu = \eta$

$$|\lambda I_{2k \times 2k} - g^H| = \begin{vmatrix} \lambda I_{k \times k} & -I_n^\eta \\ -I_n^\eta & \lambda I_{k \times k} \end{vmatrix} = (\lambda^2 - 1)^n.$$

We can prove that the true of the equality (20) for $n = k$ and $\nu = \eta + 1$ as follow

$$\begin{aligned}
|\lambda I_{2k \times 2k} - g^H| &= \begin{vmatrix} \lambda & \dots & 0 & 1 & \dots & 0 \\ \dots & \lambda I_{k-1 \times k-1} & \dots & -I_{k-1}^{\eta-1} & \dots & \dots \\ 0 & \dots & \dots & 0 & \dots & \dots \\ 1 & \dots & 0 & \lambda & \dots & 0 \\ \dots & -I_{k-1}^{\eta-1} & \dots & \lambda I_{k-1 \times k-1} & \dots & \dots \\ 0 & \dots & \dots & 0 & \dots & \dots \end{vmatrix} \\
&= \lambda^2 (-1)^{2k} \begin{vmatrix} \lambda I_{k-1 \times k-1} & -I_{k-1}^{\eta-1} \\ -I_{k-1}^{\eta-1} & \lambda I_{k-1 \times k-1} \end{vmatrix} + (-1)^{k+2} (-1)^{k+1} \begin{vmatrix} \lambda I_{k-1 \times k-1} & -I_{k-1}^{\eta-1} \\ -I_{k-1}^{\eta-1} & \lambda I_{k-1 \times k-1} \end{vmatrix} \\
&= \lambda^2 (\lambda^2 - 1)^{k-1} - (\lambda^2 - 1)^{k-1} \\
&= (\lambda^2 - 1)^k.
\end{aligned}$$

Thus, the value of the determinant $|\lambda I_{2n \times 2n} - g^H|$ is independent the choose of both n and ν . Furthermore, g^H has n positive and n negative eigenvalue which equal to $+1$ and -1 .

The eigen vector which is corresponded the eigen value $+1$

$$X_1 = \begin{bmatrix} 1 \\ \dots \\ 0 \\ 0 \\ \dots \\ 0 \\ 1 \\ \dots \\ 0 \\ 0 \\ \dots \\ 0 \end{bmatrix}, \dots, X_\nu = \begin{bmatrix} 0 \\ \dots \\ 1 \\ 0 \\ \dots \\ 0 \\ 0 \\ \dots \\ 1 \\ 0 \\ \dots \\ 0 \end{bmatrix}, X_{\nu+1} = \begin{bmatrix} 0 \\ \dots \\ 0 \\ 1 \\ \dots \\ 0 \\ 0 \\ \dots \\ 0 \\ -1 \\ \dots \\ 0 \end{bmatrix}, \dots, X_n = \begin{bmatrix} 0 \\ \dots \\ 0 \\ 0 \\ \dots \\ 1 \\ 0 \\ \dots \\ 0 \\ 0 \\ \dots \\ -1 \end{bmatrix}$$

and the eigenvector which is corresponded the eigenvalue -1

$$X_{n+1} = \begin{bmatrix} 1 \\ \dots \\ 0 \\ 0 \\ \dots \\ 0 \\ -1 \\ \dots \\ 0 \\ 0 \\ \dots \\ 0 \end{bmatrix}, \dots, X_{n+\nu} = \begin{bmatrix} 0 \\ \dots \\ 1 \\ 0 \\ \dots \\ 0 \\ 0 \\ \dots \\ -1 \\ 0 \\ \dots \\ 0 \end{bmatrix}, X_{n+\nu+1} = \begin{bmatrix} 0 \\ \dots \\ 0 \\ 1 \\ \dots \\ 0 \\ 0 \\ \dots \\ 0 \\ 1 \\ \dots \\ 0 \end{bmatrix}, \dots, X_{2n} = \begin{bmatrix} 0 \\ \dots \\ 0 \\ 0 \\ \dots \\ 1 \\ 0 \\ \dots \\ 0 \\ 0 \\ \dots \\ 1 \end{bmatrix}.$$

The matrix which are obtained in terms of eigenvectors X_1, \dots, X_{2n} and its inverse are

$$P = \begin{bmatrix} I_{v \times v} & 0_{v \times v} & I_{v \times v} & 0_{v \times v} \\ 0_{n-v \times n-v} & I_{n-v \times n-v} & 0_{n-v \times n-v} & -I_{n-v \times n-v} \\ I_{v \times v} & 0_{v \times v} & -I_{v \times v} & 0_{v \times v} \\ 0_{n-v \times n-v} & I_{n-v \times n-v} & 0_{n-v \times n-v} & I_{n-v \times n-v} \end{bmatrix}$$

and

$$P^{-1} = \frac{1}{2} \begin{bmatrix} I_{v \times v} & 0_{v \times v} & I_{v \times v} & 0_{v \times v} \\ 0_{n-v \times n-v} & I_{n-v \times n-v} & 0_{n-v \times n-v} & I_{n-v \times n-v} \\ I_{v \times v} & 0_{v \times v} & -I_{v \times v} & 0_{v \times v} \\ 0_{n-v \times n-v} & -I_{n-v \times n-v} & 0_{n-v \times n-v} & I_{n-v \times n-v} \end{bmatrix}.$$

Thus, $\tilde{g}^H = P^{-1} g^H P$, the diagonal matrix of g^H , is expressed as follow

$$\tilde{g}^H = \begin{bmatrix} -I_{v \times v} & 0_{v \times v} & 0_{v \times v} & 0_{v \times v} \\ 0_{n-v \times n-v} & I_{n-v \times n-v} & 0_{n-v \times n-v} & 0_{n-v \times n-v} \\ 0_{v \times v} & 0_{v \times v} & I_{v \times v} & 0_{v \times v} \\ 0_{n-v \times n-v} & 0_{n-v \times n-v} & 0_{n-v \times n-v} & -I_{n-v \times n-v} \end{bmatrix}$$

Finally, in terms of the matrix representation of \tilde{g}^H , we can see that g^H is a semi-Riemann metric with n positive and n negative sign, straightforward

References

- [1] Ayhan I., Cöken A. C., Yaşar E., g^C Semi-Riemann Metric On The Tangent Bundle and its index, C.B.U. Journal of Science, 4.2(2008), 145 – 152.
- [2] Dombrowski P., On the geometry of the tangent bundle, J. Reine Angew. Math., 210(1962), 73-88.
- [3] O’neill, B., Semi-Riemannian Geometry, Academic Pres. Inc., London, 1983.
- [4] Oproiu, V., Papaghiuc, N., On the geometry of tangent bundle of a (pseudo)-Riemannian manifold, An. Stiint. Univ. Al. I. Cuza Iasi, Ser.Noua, Mat. 36, No.3(1998), 265-276.

- [5] Yano, K., Ishihara, S., *Tangent and Cotangent Bundles*, Marcel Decker. Inc., New York, 392p, 1973.

Received: April, 2009